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EFRAS R H S
2022 &£ 8 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.138 0.009 &
LA i 1.512 0.027 - 0.564 0.117 =
/L4, (HCI) 4.545 0.050 - 0.200 0.132 =
mIbE (HF) 0.306 0.016 - 0.099 0.054 =
— &b (SO2) 15.147 0.177 - 8.404 2.699 =
—4&bi% (CO) 7.578 0.001 - 0.126 0.059 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.378 - 8.102 2.707 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.007 - 0.013 0.009 &
LA 0.756 0.070 - 0.156 0.117 =
/L4, (HCD 0.756 0.105-0.178 0.132 =
wAbE (HF) 0.072 0.040 - 0.063 0.054 =
— &b (SO2) 3.789 2.347 - 3.154 2.700 =
—&Ei% (CO) 3.789 0.014 - 0.098 0.059 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.866 - 4.638 2.708 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.762 x 1010 =
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EFRAS R H S
2022 &£ 8 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.039 0.004 &
LA i 1.512 0.010 - 0.755 0.086 =
Z/LE (HCD 4,545 0.024 - 0.158 0.109 TE
mIbE (HF) 0.306 0.001 - 0.127 0.028 s
—&AERi (SO2) 15.147 0.580 - 6.545 2.534 TE
—4&bi% (CO) 7.578 0.002 - 0.639 0.038 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.237 - 7.350 1.239 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.007 0.004 &
HEA T 0.756 0.035 - 0.146 0.086 =
/L4, (HCD 0.756 0.081 - 0.140 0.108 =
wAbE (HF) 0.072 0.022 - 0.052 0.028 =
&R (SO2) 3.789 2.415 - 2.700 2.536 =
—&Ei% (CO) 3.789 0.013 - 0.095 0.039 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.570 - 2.025 1.246 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 107 <5.464 x 1010 =
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2022 &£ 8 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.009 0.002 &
LA i 1.512 0.015 - 0.821 0.104 =
Z/LE (HCD 4,545 0.027 - 0.127 0.101 TE
mIbE (HF) 0.306 0.007 - 0.049 0.033 =
— &b (SO2) 15.147 0.165 - 4.857 2.675 =
—4& kbR (CO) 7.578 0.000 - 0.213 0.037 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.061 - 11.089 2.617 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.003 0.002 &
LA 0.756 0.042 - 0.160 0.105 =
(L& (HCI) 0.756 0.079 - 0.114 0.101 =
wAbE (HF) 0.072 0.027 - 0.039 0.033 s
&R (SO2) 3.789 2.464 - 2.826 2.678 =
—&Ei% (CO) 3.789 0.015 - 0.090 0.039 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.609 - 3.831 2.633 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.138 x 1020 &
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